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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot zte| 9,879,244 5,107,000 4,772,244
J| 8,285,400
[ia 1,593,844
O MM Mo XNALA 6,033,244 4,552,000 1,481,244
J| 4,439,400
[ia 1,593,844
A OIMBE UBH(LHAZH AR AA) 2,858,444 793,000 2,065,444
J| 1,864,600
[ia 993,844
AT LT B (AAIIT 212H]) 589,657 474,000 115,657
J| 485,600
s 104,057
307 2I2+0 & 589,657 474,000 115,657
J| 485,600
s 104,057
03 A BEE2IHIES 589,657 0 589,657
O QIASAMAAID R 24 XA (244H]) 589,657
J| 485,600
i 104,057
A ot (ZAINTF 2LH]) 205,215 169,000 36,215
J| 169,000
s 36,215
307 gl2tol & 205,215 169,000 36,215
J| 169,000
s 36,215
03 BIAHMNHE2IHIEL 205,215 0 205,215
QU2 AIF 24 NA(2YHI) 205,215
J| 169,000
[ia 36,215
oM (DH2ZA 2YHl) 303,572 150,000 153,572
J| 250,000
i 53,572
307 2I2+0 & 303,572 150,000 153,572
J| 250,000
e 53,572
03 QIAHMNHE2IHIEE 303,572 0 303,572
QUZSHHAMAAIF DEED NS (2LHI) 303,572
Jl| 250,000
s 53,572
AF OHF PR (LADIT RBIHI) 160,000 0 160,000
J| 160,000
307 21201 A 160,000 0 160,000
J| 160,000
03 2IAHMEES2IHIES 160,000 0 160,000
QouZtstF ot ™2 AIDI 7 X2 (&Hldl) 160,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

| T 60,000

2 orMAAL (ZAIIR HEHl) 800,000 0 800,000
J| 800,000

401 Al Bl 28I 800,000 0 800,000
J| 800,000

01 A& HI 774,960 0 774,960
OSLATU LS ADAIME S 774,960
J| 774,960

02 Zeltl 20,000 0 20,000
OSFUARDIZSAVAIME &= 20,000
J| 20,000

03 AIE 2 THHI 5,040 0 5,040

OBILAMOASALAME A

800,000,000& *0.63% 5,040
J| 5,040

ol gl gl 800,000 0 800,000

801 oIl 800,000 0 800,000

02 THoH - TH =& ol Hl bl 800,000 0 800,000
OTHoll - THEH= A OlHl bl 800,000

JlEXdMG(LELAFHT AR AAY) 3,174,800 3,759,000 A 584,200
J| 2,574,800
s 600,000

L Als SWEH =HE 50,000 0 50,000
Jl| 50,000

206 M= Hl 50,000 0 50,000
J| 50,000

01 =8l 50,000 0 50,000
OYAts EIEH =& 50,000
J| 50,000

FE=HIA FRXNH Het3 X2 400,000 400,000 0
J| 400,000

301 LEEXZ 400,000 400,000 0
J| 400,000

02 Hetz Ltttz 400,000 400,000 0
OdFHIAY =UXYH Fst= 400,000
Jl| 400,000

FEFEIY 252 NI 90,000 90,000 0
J| 90,000

308 XtXIEHHSOIA 90,000 90,000 0
J| 90,000

08 WSII20HetE = 90,000 90,000 0
Ol 282 84 90,000
J| 90,000
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@2 J2XIANS(E2ELAFHISXAAY) (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FO=EXN E IR 83 600,000 700,000 A 100,000
501 X3 600,000 700,000 100,000
01 eItEXt3 600,000 700,000 A 100,000
O JAN¥FHAY 02X L JPRX Sk 600,000
Hetd DF =9 - =& MEWs N2 80,000 80,000 0
J| 80,000
308 XX EHHSOIA 80,000 80,000 0
J| 80,000
08 WEII20HStE X 80,000 80,000 0
OgZzZ U =& HEHI 20,000& *4,000& 80,000
J| 80,000
g FHAY MBHF A 325,000 286,000 39,000
J| 325,000
401 Al HIZ 201 8] 325,000 286,000 39,000
J| 325,000
01 A& HI 325,000 286,000 39,000
O&tAtel =2 &bl 50,000
J| 50,000
O+ =2 & 38,000
J| 38,000
Ox4del s 2& 38,000
J| 38,000
OdtAtel == FHl 23,000
J| 23,000
OXIgt JbXoE s2 2 38,000
J| 38,000
OXttel s2 =& 38,000
J| 38,000
OZEc s ts3& o= 100,000
J| 100,000
E=8 FHIAY dEEF3NA 334,800 300,000 34,800
J| 334,800
401 AIEHI L 2 CHYI 334,800 300,000 34,800
J| 334,800
01 A& Bl 334,800 300,000 34,800
O320ts =2 & =2 FHl 20,000
J| 20,000
OzYlts s2 £F 30,000
J| 30,000
OZEY0IE =2 HH 15,000
J| 15,000
Odstel dEDS =2 bl 15,000
J| 15,000
OdlAel &4 =2 Hl 20,000
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Il 20,000
OXtE E =2 3t 25,800
| 25,800
Ofdel &% =2 ZHl 30,000
| 30,000
Oo¢del &+X0t2 th+=2 3l 30,000
| 30,000
OJt=2el &=30t2 =2 ZHl 20,000
| 20,000
OJt=1el =2 % =2 &bl 30,000
| 30,000
OZZcl &2 =2 ZH| 20,000
| 20,000
OR¥s =2 &l 30,000
| 30,000
OXADtel et &l 19,000
J| 19,000
Odlse MUHE =2 Fl 30,000
| 30,000

E=s8 LURES4 MY 60,000 60,000 0
| 60,000

307 2Iztol ™ 60,000 60,000 0
| 60,000

02 RIZFE MM E X 60,000 60,000 0
OZ=z2Ad 29| 60,000
J| 60,000

HEH FHIS MeEH A 325,000 286,000 39,000
| 325,000

401 Al BIZ 201 8] 325,000 286,000 39,000
| 325,000

01 Al& Hl 325,000 286,000 39,000
O=%0| or2¢erd i 40,000
| 40,000
O84c &2 ¥ =2 &xH 50,000
| 50,000
O&luel etd 2 b2 &l 40,000
| 40,000
Os4del etz FHl 45,000
| 45,000
Oa<el etd 2 i==2 &l 40,000
J| 40,000
OEsel otz & =2 &l 35,000
| 35,000
Oddtel etd 2 Hi=2 &l 40,000
J| 40,000
Oldel A2 Mo 35,000
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Hu: fAXo otEY MDY K
@2 J2XIANS(E2ELAFHISXAAY) (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Jl 35,000
2T IHEE adldgs s N 660,000 690,000 /30,000
J| 660,000
301 LEd = 660,000 690,000 /30,000
J| 660,000
01 MEI2EZE 06z 660,000 690,000 A 30,000
OYT2 B | IEE 442 X
2,500& *22,000All CH*123 660,000
J| 660,000
L AlS IS =IO SFLHE & X 50,000 53,000 A 3,000
J| 50,000
401 AIEHI L 20 50,000 53,000 A 3,000
J| 50,000
01 A& Hl 50,000 53,000 A 3,000
O =0l e+t =X &t 50,000
J| 50,000
SEE A2EsIIH NJAAS 200,000 250,000 A 50,000
J| 200,000
402 RI2FX=01 M 200,000 250,000 A50,000
J| 200,000
01 2IZEHEAE B (KM ) 200,000 250,000 A 50,000
O X&EE 28I NS 200,000
J| 200,000
ATHAN X X =HID X 3,746,000 455,000 3,291,000
J| 3,746,000
ATHANER ZEA JI2XdAAMNY ZFR(LHELFHA 322,000 292,000 30,000
AR ALL)
J| 322,000
MEFUHBHARY AF 21,000 21,000 0
J| 21,000
402 RI2EX20| M 21,000 21,000 0
J| 21,000
01 212t 2 AL E = (RERTH ) 21,000 21,000 0
OUEFULMAMNRY AY FHIH SA 21,000
J| 21,000
= AotA SXMEH ¥ FUWSE EBHH 228 221,000 221,000 0
J| 221,000
401 Al HIZ 201 I 221,000 221,000 0
J| 221,000
01 A& HI 221,000 221,000 0
O4GIAISXIHE & FUUNRISHE FHE
Hl S At 221,000
J| 221,000
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Colr AMTHMOIUK SEA JENEAY FR(LHAZHNANFAY) (Eto: & d)
SH BB S(SH) - MPAY - B2 O 4t o4 il HRS2
N2l s ZE 20,000 20,000 0
ol 20,000
401 A& HI 2= CHHI 20,000 20,000 0
ol 20,000
01 Al&HI 20,000 20,000 0
ONdel s2E% 20,000
ol 20,000
%42l 52 ZE 30,000 30,000 0
g 30,000
401 A& HI 2= CH b 30,000 30,000 0
ol 30,000
01 Al 30,000 30,000 0
Oot4el 52EE 30,000
g 30,000
WANLK =8 SHE 25 30,000 0 30,000
g 30,000
401 Al HI L 2 THHI 30,000 0 30,000
g 30,000
01 Al&HI 30,000 0 30,000
OMMOILIN S=8 BXE 25 30,000
g 30,000
MTHMOI AKX 2HA SEXRAY F(LHAFH 3,424,000 163,000 3,261,000
o X & AHE)
g 3,424,000
YOS 7 HYZ LMY 3,424,000 0 3,424,000
g 3,424,000
402 DI X201 W 3,424,000 0 3,424,000
ol 3,424,000
01 QIZXH 2 A 2 = (RHAI T &) 3,424,000 0 3,424,000
ONTOIE =0 HYT LHAY 3,424,000
ol 3,424,000
WREs (ot @22 ) 100,000 100,000 0
ol 100,000
LS H AKX & (2 & AKX 8 ALY 100,000 100,000 0
g 100,000
SIERSEE 100,000 100,000 0
g 100,000
702012823 100,000 100,000 0
g 100,000
0112853 100,000 100,000 0
OOME4IIZ BE3 100,000
ol 100,000




